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I = ED HZD |EEFE|ERK |BESF  |(ED N

iz E & (T B 1.17G5 |429G3 [58G8 [74G8 [8.21G5 |9.18 G3 Ak
118F E(HAIE 12 90 34 136
1[#g Hah(BARIH) 12 90 34 136
3IXNNE EFELTC) 12 27 41 48 128
4518 =AREUTC) 48 19 41 108
5|3k F(ERUTC) 22 41 23 12 98
6| R FH(RIESK) 90 90
6|E)Il R (DASH) 90 90
8|;Ee HI@ERLTC) 12 27 48 87
9|iEE8 BIEGEEIFALA) 12 63 75
10|15 R HHBEELTC) 48 19 67
1HEF BEEEFEXR) 41 23 64
11| HF BEELTXRE) 41 23 64
11[X%Z {E—BGRIFIEITTC) 23 41 64
11|55 HRtCEEMEEITTCO) 23 41 64
15[81H8 #7R(TE/NAVR) 22 41 63
15| % KEESITALA) 63 63
15|88 SABIOBIHEX) 63 63
15|88 Es(EEER) 63 63
193 E2(Qoo) 12 23 22 57
20| EBF #R5A(Qoo) 23 22 45
21/ S (HATH) 22 22 44
22|t H(EF—TH) 34 34
22|85 K FBA(EX—TH) 34 34
24|15 ZULREEED) 12 12 24
25|38 EANENEERB) 23 23
25| =11 BE#@ENIUTC) 23 23
25|FEE CWURERTC) 23 23
25|k (T /N—X) 23 23
25/ Mk HREBGREI T HTE) 23 23
25| EH BHAGEHEXE) 23 23
25| 5EF FEIULRESR) 23 23
25| XM % (Qoo) 23 23
25|FH £E(Qoo) 23 23
34|78 FHEXRIH 22 22
M|HFLE REGEEIFALA) 22 22
36|E[E BT (NEST) 12 12
36|HHE KEFE/N\VX) 12 12
36[&f7T BE(NOBU) 12 12
36/F[" T ANNOBU) 12 12
36|88l EEEEEXDE) 12 12
36|HHT KA FEBEKF) 12 12
36| A HIFEMAXTC) 12 12
36|18 FERB(NOBU) 12 12
36|1kE BEEREXFE) 12 12
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47 0




35U EBFATILRFTASVXVS (11 B23AHBE) thik

B = ED HZD |BEEFE|EREK |BESF  |(ED o .
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1|#%H FHUL/N—LTC) 48 90 138
1% H#h(NOBU) 48 90 138
3|EIR FZ(Qoo) 34 63 97
4124 HENLO—) 90 90
413K BEERIE 90 90
6|BIH EEHE(Qoo) 22 63 85
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7{EE EH(NOBU) 63 63
9|XH EX(Qoo) 34 34
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iz E & (T B 1.17G5 |429G3 [58G8 [74G8 [8.21G5 |9.18 G3 Ak
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13k #X(SOTC) 48 90 90 228
3| A KIFENOBU) 34 41 75
3£ FIB(NOBU) 41 34 75
QEEEN T SED) 63 63
5/8R1F #—(Qoo) 63 63
5|85K FEEE(Qoo) 63 63
5|18 2 (Qoo) 63 63
9|KH XE(ELETC) 48 48
9|HH FEK(SOTC) 48 48
11/MF E—(Qoo) 4 41
11[KHE EX(Qoo) 41 41
13|80 SX(RIRETC) 34 34
13|BF AZRGEETER) 34 34
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15| RAR BEA—F—X) 22 22
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1H)l E—(TIZTTRDE) 27 63 90
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1B EX(SOTC) 90 90
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580 SXURETC) 41 41
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5|K#FT —=FE(UL/N\—}TC) 41 41
9 0




55mBFAITILAFTASYXUS (11 A23HRE) thik
B = ED HZD |BEEFE|EREK |BESF  |(ED N
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1Bl BERGBSMHIFZI—IL) 90 63 22 175
2{EBER E(HBIHNIT7FI—IL) 90 63 153
3| Rl BEX(Qoo) 90 90
3 RE(LVHENTC) 90 90
S|{EARE JtEEHETC) 63 63
5| Rk HEARIETC) 63 63
18R EEWLVHENTC) 48 48
11EXR HE (LVHENTC) 48 48
tEH Esh(UL/NTZ=RER) 41 41
9{FE RBULNTZARE) 41 41
9|F E BEZ(EHTC) 41 41
9|FaIR B —(NEEER) 41 41
9|MHE BEEUL—1ihR—IL) 41 141
9E F—(L—17R—)L) 41 41
15| RAR BEA—F—X) 34 34
15[;EER fBAVTC) 34 34
171K Eir@iEn—1) 22 22
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3| &EH FE(EHETC) 63 63
3N EXRULRYURMAE) 63 63
S5|EAR (BRI S5D) 48 12 60
S5|EAR tEEHYSD) 48 12 60
1| FE BZ2(EHTC) 22 27 49
8|FL FEX(Qoo) 34 34
8|;EER [B(IVTC) 34 34
10|£H F—UFEEER 27 27
1[FER fE— (RS 22 22
11|{E8E EFAVTC) 22 22
11|BER ZEAIVTC) 22 22
14|48# JETURIETC) 19 19
14[/N8 2= (MAXTC) 19 19
16| %8 HHURETC) 12 12
16/ LU HFIYRETC) 12 12
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iz E & (T B 1.17G5 |429G3 [58G8 [74G8 [8.21G5 |9.18 G3 Ak
XM FH@GSHITFE—IL) 34 19 63 41 157
1[ZRF #&3%(GASCTT) 34 19 63 41 157
3[/\B BUVA(F-tennis) 27 90 34 151
A% BENEXELES) 90 48 138
585K FE(LVHENTC) 48 41 22 111
6|13 H EBEREGLTC) 63 34 97
=% FEAEXFELER) 90 90
12 XREHAKXE) 90 90
9i2R XFEHXFILS) 41 48 89
10(LE HEEZED—2T0) 12 12 41 22 87
11| XFx BF(EED—2T0) 12 12 41 65
12|28 EEHEAKXE) 63 63
12K HEHVHEO—) 41 22 63
14|#K FRF/{—X) 48 48
15[ #HEHEXELS) 41 41
16[3:F EFFITET 23 12 35
17| KZE HXFURETC) 27 27
18| = H FE(SLENDER) 23 23
18[4ZH B F(SLENDER) 23 23
18/ Hfi F(SLENDER) 23 23
21|#H EEGELUTC) 22 22
21| RE HXERTC) 22 22
21|18 ALFGLEBEE) 22 22
21|k BEFHYLTC) 22 22
21|BAR HFLVDHENTC) 22 22
26| &)l BIEE(EHETO) 12 12
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29 0




A0 LVt HEFFTILARFTASV XS (11 A23A8E) thik
IE = ED HZD |BEEFE|EREK |BESF  |(ED o .
iz E & (T B 1.17G5 |429G3 [58G8 [74G8 [8.21G5 |9.18 G3 Ak
1[#H LEEGEBTC) 12 90 90 192
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11|XH {Z%(Qoo) 22 34 56
12| FHE #HpE(enjoy) 48 48
12[4RA AE=F@EUTC) 48 48
14[3rAKX EFF(L\HENTC) 22 19 H
14| 5[ E#(Qoo) 41 H
14|ERE #BZ=(EHTC) 41 41
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185k BFEHYE) 34 34
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19| 2% EX@ELUTC) 22 22
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